
Time: 10 Minutes Paper Science 8 Total Marks: 10

3 Month, 3rd Week, 4th Day Syllabus: Unit # 6 Displacement + double displacement reactions

Q.No.1 Encircle the correct answer from the following choices. (0.5 <<<< 6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The ability of an atom or radical to displace another depends upon its:

ÅÅÅÅZZZZVVVVcccc****ggggiiii++++ppppÅÅÅÅŠŠŠŠzzzzuuuu}}}}ÅÅÅÅ((((ppppssss™™™™ääää»»»»ZZZZ®®®®ggggZZZZkkkkÅÅÅÅ''''6666,,,,ƒƒƒƒ@@@@****ììììXXXX

(a) Electropositivity Z¼z7ik¨ (b) Electronegativity ¨ "5»43ð
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ii. Which of the following is the more electropositive atom?

~~~~ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚¹¹¹¹iiiicccc****ŠŠŠŠ{{{{ZZZZ¼¼¼¼zzzz7777iiiiWWWWZZZZVVVVìììì????

(a) Na (b) Zn (c) Cu (d) k

iii. Which of the following atom is less electronegative?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ÁÁÁÁZZZZ¼¼¼¼zzzz""""5555»»»»44443333ðððð
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GGGG

YYYY

GGGG
HHHHZZZZVVVVìììì????

(a) F (b) Cl (c) Br (d) I

iv. AB + CD ----� AD + CB this reaction belongs to: ttttgggg~~~~ZZZZ½½½½mmmmgggg‚‚‚‚rrrrìììì::::

(a) Decomposition reaction e~ìicg~Z½ (b) Displacement reaction e
_5Ó4g.3ï FGEHg~Z½

(c) Double displacement reaction e.Þe
_5Ó4g.3ï FGEHg~Z½ (d) Addition reaction Zi+cg~Z½

v. The colour of precipitate of barium sulphate is: ÛÛÛÛ****ÜÜÜÜÆÆÆÆggggÎÎÎÎ[[[[»»»»gggg8888----ƒƒƒƒ@@@@****ìììì::::

(a) Yellow ¨ (b) Green ! (c) Blue 8 (d) White C

vi. The chemical formula of silver cholride is: gggg³³³³ggggZZZZ[[[[++++»»»»6666ððððÃÃÃÃggggññññÑÑÑÑìììì:::: ||||

(a) AgCl4 (b) AgCl3 (c) Ag2Cl3 (d) AgCl

Q.No.2. Write short answers.     (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) Define displacement reaction. e

_5Ó4g.3ï FGEHg~Z½Å°p™,X

(ii) What are double displacement reactions? e.Þe
_5Ó4g.3ï FGEHg~Z¶H÷?

Q.No.3. Write long answer.     (3) ----����ZZZZ[[[[KKKKXXXX
(i) Explain displacement and double displacement reactions with different

examples. ZVßVÐe
_5Ó4g.3ï FGEHZzge.Þe

_5Ó4g.3ï FGEHg~Z¶ÅzŸs#™,X
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